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U
��� p � #��
 

���IE�

 ������ 1 < p < η1 �
η2 < p+1� U
��� l(r) � 

�
�
��
�����
�

#����
�

� [0; +∞) ��
�#�'� 	���� K�N

lim
r→∞ l′(r)r ln r → 0, (1)

lim
r→∞

l(r) = η1, lim
r→∞ l(r) = η2 (2).
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�� ���'���� F�	�� P%Q� )�� η1 = η2 ��
�#�'
l(r) E �	��


�� ���'���� P�Q� U
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��	�� n(t) =

∑
λn�t 1�

q
�
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	 ! ���
��" � ����	��� L2(R) O���� P@QR � '�
 � �������
l(t) ≡ l� l := η1 = η2 ���	�	��' � PBQ� � � �������
�	��


��� ���'��� O	�$	�� ��� η1 = η2R � P=Q�

�&'(&)��I�=�� 1����<������
 (λn) <�<����=
����� > 1����<������? ����� <�'��@ ����@ A�����@
f 
 <�' '��@ 1&� <�'��!� d ∈ [0; +∞) ������>�
�'

|f (z)| � O
(
exp

(
(d+ o (1)) |y|l(|y|)

))
,

z = x+ iy ∈ C, |z| → +∞ (3).

"�<�
 '��� <�' <����
��= B � η2∫ +∞

1

tl(t)−B−1dt = +∞ (4)

�

lim
n→∞

n

λ
l(λn)
n

>
d

π

(
sin

π

2B

)η2
, (5)

�� f (z) ≡ 0�
u�
�#�' l(r) !$
����E $���	� ����	����	
� �	��

�
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*&)� ��%��� l(r) 5 ��������� 1�&'<�� ��5
�&�
 �� A�����' ϕ(r) = rl(r)−1 > !�������� �&�5
���?��? A�����>? 1&� <������
� ������= r�

U
��� r = ϕ−1(t) � E��
�� ��� t > t0 ��!��'!��
���
'

' t = ϕ(r)� �
 ϕ(r) = rl(r)−1� U
��� q(t) =

1 + lnϕ−1(t)
ln t �

*&)� 	� q(t) > ��������! 1�&'<��! ���&�

1&���!�

lim
t→+∞

q(t) =
η2

η2 − 1

def
= q1,

lim
t→+∞ q(t) =

η1
η1 − 1

def
= q2.

*&)� �� ��' <����
��= k
 0 < k < +∞ ����5
��>�
�'

lim
r→+∞

ϕ(kr)

ϕ(r)
= kη2−1,

lim
r→+∞

ϕ(kr)

ϕ(r)
= kη1−1.

4�5�6,'7� ��' <����
��= k
 0 < k < +∞ ��5
����>�
�'

lim
r→+∞

ϕ−1(kr)

ϕ−1(r)
= kq2−1,

lim
r→+∞

ϕ−1(kr)

ϕ−1(r)
= kq1−1.
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*&)� �� I�=�� f 5 ���� A�����' ���������6�
��1� !��$�6� �4� &����6� σ 1&� ��������!� 1�5
&'<�� ���&� l (t)
 q0 > 1 5 A�������� ������ "�<�
����?�
 ����� h
 '�� ����J��
 ��$� ��< q0
 � 1�5
���<������
 (rk)
 0 < rk ↑ +∞
 rk < q0rk−1
 k � 1
����
 �� <�' 4�<
5'��6� ε > 0

ln |f (z)| > −h (σ + ε) |z|l(|z|) , |z| = rk, k > k0 (ε) .
(6)

����<���'� ��$
�
�� ����� R1 > 0� R2 =
q1R1����� Rk = q1Rk−1�� � � Y q1 =

√
q0� ?��� P � �� BCQ

��
�"	� ���� |z| = rk� Rk−1 < rk < Rk� 
� '���

ln |f (z)| > −h ∗ lnMf (2eRk) , h∗ > 0,

Mf (r) = max {|f (z)| : |z = r|} .
S� �����"

σ = lim
r→∞

lnMf (r)

rl(r)
,

!�����

lnMf (r) < (σ + ε) rl(r), r > r0 (ε) , ε > 0.

?����

ln |f (z)| > −h ∗ lnMf (2eRk) >

> −h ∗ (σ + ε) (2eRk)
l(2eRk) , k > k0 (ε) , ε > 0.
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L������� P(� �� T%�T�Q ��
�#�' rl(r) E !���	�"��"
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���
��	� Rk < q1rk� ��E��

ln |f (z)| > −h ∗ (σ + ε) (2eq1rk)
l(2eq1rk) >

> −h ∗ (σ + ε) (2eq1)
η2 (1 + o (1)) r

l(rk)
k =

= −h (σ + ε) r
l(rk)
k , k > k0 (ε) , ε > 0.

*&)� �� I�=�� f 5 ���� A�����' ���������6�
��1� !��$�6� �4� &����6� σ 1&� ��������!� 1�5
&'<�� ���&� l (t)� "�<� <�' <����
��6� B > 1

− 1

2πR2B

∫ R

1

mB−1 ln
∣∣∣f (me iπ

2B

)
f
(
me−

iπ
2B

)∣∣∣ dm �

� K2
ϕ (R)

RB−1
, (7)

− 1

πρB

∫ π
2B

−π
2B

ln
∣∣f (ρeiθ)∣∣ cosBθdθ � K3

ϕ (ρ)

ρB−1
. (8)

����<���'� &�' ��
�#�� f ��� |z| < ρ �����
�
����� ������� )�����
���
�

� P(� r�%(Q

ln |f(z)| = − 1

2π

∫ 2π

0

ln
∣∣f (ρeiθ)∣∣·Re(ρeiθ + z

ρeiθ − z

)
dθ+

+
∑

|aν |<ρ
ln

∣∣∣∣ρ (z − aν)

ρ2 − aνz

∣∣∣∣ , (9)

�
 (aν) � 
��� ��
�#�� f � U
��� |z| = m � R � k ∈ N

	��
 ������ ��' '���� rk−1 � R < rk� �
 (rk) �
��������
��	� �! �
�� B� ��!��
�� � OTR ρ = rk+1�
�������"�� O(R � 

���
��	�∣∣∣∣ρ (z − aν)

ρ2 − aνz

∣∣∣∣ � ρ |m− |aν ||
ρ2 + |aν |m � |m− |aν ||

2ρ
,

��E��

ln |f (z)| � −h (σ + ε) ρl(ρ)
ρ+m

ρ−m
+

∑
|aν |<ρ

|m− |aν ||
2ρ

.

?���

− 1

2πR2B

∫ R

1

mB−1 ln
∣∣∣f (me iπ

2B

)
f
(
me−

iπ
2B

)∣∣∣ dm �

� − 1

2πR2B

(∫ R

1

mB−1 ln
∣∣∣f (me− iπ

2B

)∣∣∣ dm+

+

∫ R

1

mB−1 ln
∣∣∣f (me iπ

2B

)∣∣∣ dm
)

�

� 1

πR2B

(
h (σ + ε) ρl(ρ)

∫ R

0

mB−1 ρ+m

ρ−m
dm+

+ RB−1
∑

|aν |<ρ

∫ R

0

ln
2ρ

|m− |aν ||dm
⎞
⎠ . (10)

L#�
��� �
���� ����
�� � ������ ���	�
� O%CR�
L������� rk < q0rk−1� 	� q0R < ρ < q20R �� ���
�����	���"�� �
�� @� �	����E��

1

πR2B
h (σ + ε)ρl(ρ)

∫ R

0

mB−1 ρ+m

ρ−m
dm �

� 1

πR2B
h (σ + ε)

(
q20R

)l(q20R) ∫ R

0

mB−1 q
2
0R+R

q0R−R
dm �

� 1

πR2B
h (σ + ε) q2η20 Rl(R) q

2
0 + 1

q0 − 1

∫ R

0

mB−1dm =

=
1

πR2B
h (σ + ε) q2η20

q20 + 1

q0 − 1
Rl(R) m

B

B

∣∣∣∣
R

0

=

=
h (σ + ε) q2η20

(
q20 + 1

)
πB (q0 − 1)

· R
l(R)

RB
= K1

Rl(R)

RB
. (11)

>�!��'

�� ������ ����
�� � ������ ���	�
�
O%CR� u�
�#�' χ (x) = ln 2ρ

|x| !�������
'E ���� ���
����� �
��  �� �! P(� �� =(Q 
� �������� (−ρ; ρ) !
E = (− |aν | , R− |aν |)� ?��� !� #�E" �
��"

∫ R

0

ln
2ρ

|m− |aν ||dm =

∫ R−|aν |

−|aν |
ln

2ρ

|t| dt �

�
∫ R

2

−R
2

ln
2ρ

t
dt = R ln

4eρ

R
� R ln

(
4eq20

)
. (12)

L������� f � ��
�#�' ���
�


��� 	���� 	� PG� ��
�CTQ

lim
t→∞

n (t, 0)

tl(t)
= τ <∞, (13)

�
 n (t, 0) � �������	� 
���� f (z) � ���!� |z| � t�
?��� ! �
�� @ � O%%�%@R� �	����E��

− 1

2πR2B

∫ R

1

mB−1 ln
∣∣∣f (me iπ

2B

)
f
(
me−

iπ
2B

)∣∣∣ dm �

� K1
Rl(R)

RB
+
RB−1

πR2B

∑
|aν |<ρ

R ln
(
4eq20

)
�

� K1
Rl(R)

RB
+

ln
(
4eq20

)
πRB

n
(
q20R, 0

)
�

� K1
Rl(R)

RB
+

ln
(
4eq20

)
πRB

(τ + ε)
(
q20R

)l(q20R) �
� K1

Rl(R)

RB
+

ln
(
4eq20

)
πRB

(τ + ε1) q
2η2
0 Rl(R) �

� K2
Rl(R)

RB
= K2

ϕ (R)

RB−1
.

&��
�
�� ����� ���	�
� �
�� =� U
��� ln+ x =
max {0, lnx}� ln− x = min {0, lnx}� x > 0� U
 !�

�
��"�� !�����
��	� 
����� ���
�� �����	�� K�
f (0) = 1� d�K� � f (0) �= 1� 	� $��
�� ��!��'��	�

��
�#�" f(z)
f(0) '�K� f (0) �= 0� �$� j!z−jf(z)

f(j)(0)
� '�K�
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f (z) � 	��#� z = 0 ��E 
��� ���'��� j� S����
��
��' ��
�#�� f ������� �
�

�

1

2π

∫ π

−π
ln
∣∣f (ρeiθ)∣∣ dθ = ∑

|aν |�ρ
ln

ρ

|aν | � 0,

�
 aν � 
��� ��
�#�� f (z)� L�������

0 � 1

2π

∫ π

−π
ln
∣∣f (ρeiθ)∣∣ dθ =

=
1

2π

∫ π

−π
ln−

∣∣f (ρeiθ)∣∣ dθ+ 1

2π

∫ π

−π
ln+

∣∣f (ρeiθ)∣∣ dθ,
	� ����$
� �� PT� �� B�CQ

− 1

πρB

∫ π
2B

− π
2B

ln
∣∣f (ρeiθ)∣∣ cos (Bθ) dθ �

� − 1

πρB

∫ π
2B

− π
2B

ln−
∣∣f (ρeiθ)∣∣ cos (Bθ) dθ �

� − 1

πρB

∫ π
2B

− π
2B

ln−
∣∣f (ρeiθ)∣∣ dθ �

� − 1

πρB

∫ π

−π
ln−

∣∣f (ρeiθ)∣∣ dθ �
� 1

πρB

∫ π

−π
ln+

∣∣f (ρeiθ)∣∣ dθ �
� 1

πρB
2π (σ + ε) ρl(ρ) � K3

ρl(ρ)−1

ρB−1
= K3

ϕ(ρ)

ρB−1
.

����<���' ���&�!��
)�����	���� K� f (z) �= 0� S��	���E�� �� ��
�

�#�� f
(
z1/B

)
������� H���
��
� P(� �� B%Q ��' ����

��� ������K�
�

1

B

∑
1<λn�R

(
1

λBn
− λBn
R2B

)
�

� 1

πRB

∫ π
2B

− π
2B

ln
∣∣f (Reiθ)∣∣ cosBθdθ+

+
1

2π

∫ R

1

(
1

tB
− tB

R2B

)
ln
∣∣∣f (te iπ

2B

)
f
(
te−

iπ
2B

)∣∣∣ dt
t

+O (1) , R→ +∞ (14).

L#�
��� �
���� ����
�� � O%BR� �������"�� O@R
�	����E��N

1

πRB

∫ π
2B

− π
2B

ln
∣∣f (Reiθ)∣∣ cosBθdθ �

� 1

πRB

∫ π
2B

− π
2B

(d+ o (1)) (R sin θ)
l(R sin θ)

dθ �

� 1

πRB

∫ π
2B

− π
2B

(d+ o (1))Rl(R) (sin θ)
η2 dθ �

� 1

πRB
(d+ o (1))Rl(R) π

B
� (d+ o (1))

Rl(R)−1

RB−1
=

= (d+ o (1))
ϕ (R)

RB−1
, R → +∞ (15).

L#�
��� ������ ����
�� � O%BRN

1

2π

∫ R

1

(
1

tB
− tB

R2B

)
ln
∣∣∣f (te iπ

2B

)
f
(
te−

iπ
2B

)∣∣∣ dt
t

�

� 1

2π

∫ R

1

1

tB+1
2 (d+ o (1))

(
t sin

π

2B

)l(t sin π
2B )

dt �

� d+ o (1)

π

∫ R

1

1

tB+1
tl(t)

(
sin

π

2B

)η2
dt =

=
d+ o (1)

π

(
sin

π

2B

)η2 ∫ R

1

ϕ (t)

tB
dt, R → +∞ (16).

L	�
� ! O%=R � O%(R �������EN

1

B

∑
1<λn�R

(
1

λBn
− λBn
R2B

)
�

� L2

∫ R

1

ϕ(t)

tB
dt+L1

ϕ(R)

RB−1
+O (1) , R→ +∞, (17)

�
 L1 = d+ o(1)� L2 = d+o(1)
π

(
sin π

2B

)η2 �
L������� ����
�E	��' OBR� 	� �������	���"��

������� f���	��'� ��E��

lim
R→+∞

ϕ(R)
RB−1∫ R

1
ϕ(t)
tB dt

= lim
R→+∞

Rl(R)−B∫ R
1 tl(t)−1−Bdt

=

= lim
R→+∞

Rl(R)−B (l′(R) ln(R) + (l(R)−B) 1
R

)
Rl(R)−B−1

=

= lim
R→+∞

(Rl′(R) lnR+ l(R)−B) = η2 −B � 0.

?��� ! O% R �	����E��

1

B

∑
1<λn�R

(
1

λBn
− λBn
R2B

)
�

� L2

∫ R

1

ϕ(t)

tB
dt

(
1 +

L1

L2

ϕ(R)
RB−1∫ R

1
ϕ(t)
tB dt

)
+O(1) �

� L2

∫ R

1

ϕ (t)

tB
dt+O(1), R → +∞ (18).

S �
���� $���

1

B

∑
1<λn�R

(
1

λBn
− λBn
R2B

)
=

∫ R

1

(
1

tB
− tB

R2B

)
dn(t) +O(1), R → +∞,

�
 n(t) =
∑

λn�t 1� S ����� O=R �������E� K� ��'
�
'���� ε0 > 0 ����
�E	��'

n(t)

tl(t)
> M,M =

d

π

(
sin

π

2B

)η2
+ ε0, t � t0.
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?���
1

B

∑
1<λn�R

(
1

λBn
− λBn
R2B

)
=

=

∫ R

1

(
1

tB
− tB

R2B

)
dn(t) +O(1) =

=
1

B

(
n(t)

tB
− n(t)tB

R2B

)∣∣∣∣
R

1

+

+

∫ R

1

n(t)

(
1

tB+1
+
tB−1

R2B

)
dt+O(1) �

�M

∫ R

1

tl(t)
(

1

tB+1
+
tB−1

R2B

)
dt+O(1) �

�M

∫ R

1

tl(t)−1−B
(
1 +

t2B

R2B

)
dt+O(1) �

�M

(
1 +

1

R2B

)∫ R

1

ϕ(t)

tB
dt+O(1) �

�M

∫ R

1

ϕ(t)

tB
dt+O(1), R → +∞. (19)

L	�
� ! O%GR � O%TR ��E�� L2 �M � 	�$	�(
sin

π

2B

)η2
>
(
sin

π

2B

)η2
+
ε0π

d
.

L�
���
� ���
�
�
��	� �����	���E �����K

�

'� K� f(z) �= 0 � 	�� ����� 	
��
�� ���
�

��

���
�
 ��!��
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